Al 5 3 Al 3



A £ 0 & AHE 8 Al A

20289 204t LESIH I3 H Dt

AN NS HD
Do DR (LHBBU/ MWL - HEXD)
2t N2 2 EER-E
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
NI H 1t 64,171,350 59,502,073 4,669,277
= 54,730
= 64,116,620
ME2Ae|(Let2ZH/XUHA - THEXH) 312,517 344,918 A32,401
= 30,514
= 282,003
A& 22l 89,303 100,848 A 11,545
= 30,514
= 58,789
N&Eze 29 16,035 15,841 1%
201 et AH| 10,651 10,651
01 AF222|H| 10,651 10,651
OXNYAN €8 B8 7,651,000 %14 7,651
ONg= JHAAIA & USOIHl = =2
250,000« 12& 3,000
202 o410l 640 680 A0
01 Z2LHoY| 640 680 Yavl¢}
ONEYR F& 80,000 x2H x43| 640
301 YEtEBNZ2 2,000 2,000
14 JIEIE A2 2,000 2,000
OXNEN HAaEAA A&
50,0002 *40H 2,000
306 =42 2,744 2,510 234
01 &3 2,744 2,510 234
OSt=ALHAPRA KXSHHE EH=
2,744 0003 * 14! 2,744
Mot 2= 12,240 23,563 N11,323
201 YEr2AHH| 12,240 23,563 N11,323
02 s=2294| 12,240 23,563 A11,323
OgY4ZEXA ol0IXI&el AAE SXE2
550,000&x 12 6,600
O1lxs8eH ¥ S| FAE
470,000& x12& 5,640
FEOIHAZAN 29 61,028 61,444 A416
= 30,514
= 30,514
201 et A 60,628 61,044 N416
= 30,314
= 30,314
01 AF222|H| 57,988 58,404 N416
OMNE=EIIA BESeor=
6,686 *8,2265 55,000
= 27,500
o 27,500
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2N NSRS H
A a2A(LersSSH /XYY - W)
Sl HE 2l (eh9): 22)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
oNgFeII2 B2 W ADE 7Y
2,283,000« 14 2,288
=2 1,144
2 1,144
ORSIIABASARS Baag
70,0002 %10H*13] 700
= 350
= 350
02 s=329H| 2,640 2,640 0
OHEFH & T2 KBS
220,000 x 128 2,640
= 1,320
= 1,320
202 04H] 400 400 0
= 200
= 200
01 2LH0Y] 400 400 0
ONMEZELIIH FARY B&
10,000 x2H +203] 400
= 200
= 200
XA 210 22| 135,078 168, 131 A33,053
NN 22d 77,440 71,130 6,310
201 LBt AH| 76,000 70,130 5,870
01 At 22lb| 13,000 12,025 975
OORILAI A RIZHXI KIS D)
65,000 x2008f A 13,000
02 32294 63,000 58,106 4,895
OYMNIXNAN £E5E bt QTS 63,000
OBt H 3,750,000« 128 45,000
S)|SH 1,500,000& x12& 18,000
202 o4b| 1,440 1,000 440
01 2LH0oY| 1,440 1,000 440
OXIEA 8ol HIREAL
120,000 *3H *43] 1,440
AN 208 29 57,638 97,001 N39,363
308 AHXIEHMISOIHE 57,5634 35,450 22,084
11 S| 2SS A S E AN 57,5634 35,450 22,084
OQEZEXNLEESAIAE KRS 3,532
OEZEXNSUEHEAIAE
1,521,000 & * 14! 1,621
OSSNLEBAIAE
1,949,000 x 14 1,949
OLNISEAIAE 62,0002 =14 62
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SA: M2
M JD2

g—v—

= XAl 21t 22 EERSED)
SIE]
2N - B - HA(SAH) - NRAY - BHES Ofl ot %E% HuwsZ
OXAICH XILAAIAE X2
54,002,000 14 4,002
403 AXIEtHSA=01E 104 61,551 NB1,447
02 S| 2SOCHEHAHE & 9 EFAFHI 104 61,551 N6B1,447
OXNIth XISMEE AAE 2=
104,000 +14 104
NLA S2e) 34,072 36,370 N2,298
KA Hgzel 34,072 36,370 N2,298
201 2etEadl 27,912 30,112 2,200
01 AtR2t2lH| 10,912 13,112 22,200
QORLXIA ME(HMESE DXIM)
3,072,000 14| 3,072
OS0NtHe === 3,000,000 14 3,000
CHEFEXS 0182
2,640,000 14 2,640
Q=R 0l82
2,200,000& 14! 2,200
02 s5=3bl 17,000 17,000 0
ONELINN 2E8 KBRS
17,000,000+ 14! 17,000
202 OfH] 1,160 1,258 A9
01 2LH0AbI 1,160 1,258 PaNe ]
ORI M 2SS
80,0002 <201 %43 640
OME A 20 nFPHP
20,0002 *121%26%] 520
303 Z&= 5,000 5,000
01 Z&3 5,000 5,000
OXIYA H= Za3 5,000,000 14 5,000
H2l+=g Hligeel 54,064 39,569 14,49
N2l migztel 54,064 39,569 14,49%
201 L2 20,830 17,330 3,500
01 AtR2t2|H| 3,100 3,100 0
QORLAIA M= (A2l
1,500,000 x14 1,500
OSMUY =5 1,000,000 14 1,000
QI AT € St
50,0002 * 1291 & 600
2 55238l 17,730 14,230 3,500
OMYLINN 2E8 RUR=
3,000,000 14 3,000
OXHHSE X FUE AZ223
40,0002 +3CH*120H & 1,440
OXSLSHAX] AMAE RAZ4
632,500« 129 2 7,590
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2A: A2 A

MR YRR (LDIHI/X LY - HIX)
ni
7

S NI Mgl (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O&I2YE 0lsE
2,200,000« 14 2,200
OXHHS T AX| XAUISYE ToHe
3,500,000& 14! 3,500
202 04| 400 400
01 2LH0oY| 400 400
oMy A2s 20,000& *x221%x 103 400
303 ZA2 5,000 5,000
01 Z&2 5,000 5,000
ONI2l=2 A ZAZ
5,000,000 =14 5,000
308 XX EXHSOIA 27,834 16,839 10,99%
11 SIS UEHE A S E AN 27,834 16,839 10,9%
OXNIHMQe=UEEAIAE S E4
27,834,000 * 14! 27,834
Mg (Let22a™/XUsA - THEXR) 162,239 148,797 13,442
HeE - S 22 143,739 132,297 11,442
Her 2A 34,546 37,572 N3,026
201 LetE2AH| 34,546 37,572 N3,026
01 AF222|H| 21,310 20,100 1,210
OLIZtEH 0182
1,500,000& 1201 & 18,000
ONH%AASIRS| EESY
70,0002 x10H*3& 2,100
OFAAMAI IR AIBR
1,210,000& %1 1,210
2 352ZHl 13,236 17,472 N4, 236
OAHUEZZ2 M QAIES
411,000& x 1200 & 4,932
OQBHAIBAIACHY Z2 )2 SKE4
346,000« 120 & 4,152
OHUFE SMAAE RXE=
346,000« 1202 4,152
=2 22l 78,273 67,445 10,828
201 et A 18,273 17,445 828
01 AF22t2lbl 2,99 2,970 22
ORFID 222l A2E ¢
2,992,000 *14! 2,992
2 Z=2294| 15,281 14,475 806
ORFID 2322 Y g &ed
1,050,000& x 1200 =& 12,600
ORFID 2IEHD| S22z A2
223,4003x 120 & 2,681
405 RHaHESBI 60,000 50,000 10,000
01 AL 2 EFSHI 60,000 50,000 10,000
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)

=

Ok

=

3,640
4,000
4,000

A360
A360
2,000
2,000

HEE
Off &FoH

16,000
8,460

27,280

24,460

1,320
1,320
900
900
600
600
16,500
16,500

Ofl ot

60,000
30,920
28,460
20,000
14,000
6,000
8,460
3,000
2,160

3,300
960
960
960
900
900
900
600
600
600

18,500
18,500

ol

- S2(311) - MISA

S <E

2A

*20

)

60,000, 000& * 14

, 160,000 * 14!

3

IS1

22,5503« 133

14,000,000 %14}

M=ZE
100,000& *3

Jl

(==

e
Xt
x

o)
EAL K

A TH

]

x|
=]

A
=
2

3
I

OAIR
3

©

201 LEr2 S|
01 AtR2t2ll

H 22

<+
T

Ok

0

=]
ro

Rr
[0

=1

3,300,000& 14
300,000 %32!
200,000 *32!

20,0003 4212

01 S ALl

202 04|

30
0
ol
I+

Hr

2,000
2,000
109,550
450
450

2,572,846

2,709,550

1,500
1,500
15,000
15,000
600,640
100,640

77,740

69,440

2,730,760

1,500
1,500
1,500
17,000
17,000
17,000
5,303,606
78,190
69,890
3,000
28,000

35,000

3,310,190
210,190

=377-

,000& *10A
700,000& *40A

1,500,000 14
17,000,000& + 14

ONMPHE HE A

01 AtR2t2lHl
207 A0
01 AtR2t2lHl




2A:

NI 2] H 2k

B AR (LU RDHE /Y
&2l BF A 22l (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OFg =5 1,000,000& *30AH 30,000
OSIEE =22 500,000 x104) 5,000
OBSMLAIS FaLY
70,000 %401%83] 2,240
(OF=E =N Pyl =] 100,000 x 123 1,200
O=ZSF A2 AIAE Bot A2t A
2 450,000 % 14| 450
02 =s=294| 8,300 8,300 0
O=2ZF A2 AIAE K
8,300,000 *14] 8,300
202 04H| 2,000 2,000
ETEE 2,000 2,000
OBKMA A5 £
80,000&%121%103] 800
OZF A AEHZ AL
20,0002 %121%603] 1,200
401 AlIEH|ILL20HH] 130,000 10,000 120,000
01 A& 130,000 10,000 120,000
SN HBIALS 130,000,000/ * 14! 130,000
28 FE 3,100,000 500,000 2,600,000
401 AlIEHIZL 200 3,100,000 500,000 2,600,000
01 Al&EH| 3,100,000 500,000 2,600,000
O THAIEA EXIDHHI
1,000,000,000& * 14! 1,000,000
OBAIEH EX 2S
2,100,000,000 & * 14 2,100,000
HAr2te| 1,409,176 1,538,320 N129,144
HAAIE S 22| 780,176 698,320 81,8%
201 LBt2AH| 780,176 633,320 81,856
01 AtR22|BI 70,816 70,520 2%
O3t&A gietl 2
28,330& * 1800+ 12& 6,120
OSHEErE &AL
1,000,000& * 102 10,000
oMYDISEFRL 150,000 *12& 1,800
O3gt&A Hig g 21,0003 «48CH* 12& 12,096
OF&AASH 7 70,000 x12& 840
OFBANEIIME L 10,0002/ 5004 5,000
OFAIZE| ARE 2
330,000« 12& 3,960
O3AclADIAEZl 72
1,000,000& 14 1,000
O&I| Y AYAIE HAlE
1,500,000& x12& 18,000
O&EAI 2D A2
600,000& x 128 7,200
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S NREIH M

HEl: TRARIR| (LB D DU/ ABIHY)

chel: FARRE) (o9l 2)
= = w2 d L=
2A-F3H-H2(3) - MRAY - BES Ol - %E% HuwsZ
OFA B 242 400,000+ 122 4,800
2 ZZ=2ZH| 709,360 627,800 81,560
O=EA HAS(3Y)
141,560, 000214} 141,560
03ZR2 % HAl 250,000, 00021141 250,000
OAEZEIST 40,000,000 %14} 40,000
CEENEEEYET
97,000, 00024141 97,000
OYESHHATHSI|
140,000,000 14} 140,000
CLEEL] 3,400,002+ 128 40,800
A AT 629,000 840,000 £211,000
PAELEET 629,000 840,000 £211,000
o1 Algt 624,000 840,000 £.216,000
OFAAIE BLTA} 100,000, 000214} 100,000
OREA =X2el 20,000,000 14} 120,000
Oz FAE Y=
50,000,002 14} 50,000
ORHA HOHQIHAAIS HEBA
100,000, 00014} 100,000
OFAL HIIQFEZ S(4BID|, GHEDI)
5,000, 0002 +23] 10,000
OYUSHAL ST SHLHLBA
100,000,000 +14} 100,000
OMBARA ST SLHLBA
30,000,0002114] 30,000
OBIZHARA I SEZAHEAY|
) 22,000,001} 22,000
OBILE 0IFEASARY 2128
22,000, 00024 +1A! 22,000
OQUHBAISL BHZHITA
10,000, 00024 %141 10.000
OYYSAIRL BLTA
10,000,000 x141 10,000
OMBANRA BETAl
10,000, 00024 %141 10,000
OEYBAIRL BEBAF
10,000, 00024144 10,000
OHSBAIRL BATA
10,000,000 %141 10,000
OBLBAIRL BATA
10,000, 0002414 10,000
OYBBIARL BLTAl
10,000,000 %141 10,000
0 22l 5,000 0 5,000
OBSTARA MRAWIIY SETA 228
= 5,000,00021%14] 5,000
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2A: A2 A

HI: AER(LSDTUY/ L)

Cel: 2ZXE 2l

SN - HE - SRIEH) - HRAY - B Ol ary e HIDE2
2HERHE 22 584,240 581,800 AT,560
2SN FHS 286,000 289,800 23,800
405 At&HF =4 286,000 289,800 A3,800
01 MR ESFSHI 286,000 289,800 23,800
QoaARY HEXY 2
96,000,000 *1CH 96,000
OHNSRE AL HAIE U (BELSFATON
xt) 150,000,000 = 1CH 150,000
o224 H2E U 72 - A
40,000,000 = 1CH 40,000
2SI =FA2el 298,240 302,000 A3,760
201 Zer2aE| 298,240 302,000 A3,760
01 At2telsl 158,240 162,000 6,240
OxtE & & 20l HE ===
20,000,000 & * 14! 20,000
OZR=8 Xt Xt
960,000 x12CH* 122 138,240
2 s3=4Hl 140,000 150,000 210,000
Oxg sXlZell 90,000,000& * 14! 90,000
03&s2= € A 50,000,000& *14] 50,000
HH2AHHI (MR ) (O1EHIIE) 55,392,983 53,277,598 2,115,390
= 24,216
= 55,368,772
AR HH(22Z) 55,087,160 52,960,818 2,126,342
QAR AL (L) 55,087,160 52,960,818 2,126,342
101 2124 H| 30,309,574 39,851,786 NBA2,212
01 2+ 31,493,117 31,089,662 403,455
(O 25,099,062
OF~E g 99,642,000 x1 99,642
Oggty 22,802,516
-Rz 95,213,000 1 95,213
4= 99,287,000 *3% 297,861
—SENE 2 85,194,000& 1 85,194
-2 91,385,000 «1& 91,3%
-53 82,787,000 268 2,152,462
= 4,213, 9002 *176Z« 123 8,899,757
K= At 4,048,900 x 152 * 122 728,802
-2 3,5611,200& #1302+ 122 5,477,472
-8= 2,531,300 x91* 122 2,764,180
= 2,046,500 «0S * 122 2,210,220
OHA AL 3,875,6002 3812 139,522
OJlE=els 20,219,953,0008 1. 7% 343,740
odz2=¢g 20,563,693,0002/ 122 1,713,642

-380-




2N NS D
A HE2LZHI(MRSIAM) (O1EHIIES

TR QY| (XYLR) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
oErE 304,480
o =2 20,0002 #3108 =122 74,400
O EIN; 40,0003 310 = 122 148,800
OX 20,0002 *350H * 122 84,000
(@INIEE=DIPI, 40,0002 *36Z* 123 17,280
=V =ESE= 850,000 x13H + 122 132,600
oneTRLY 343, 151
SEEL PN
3,810,0002 180« 128 *4. 1% 337,414
OJl2selasz 337,414,000&*1.7% 5,737
(OFSFmt=gw] S\ = 487,800
O25E 0] 4t 130,000& x 1602 * 12& 249,600
O20E 014 25 0| BF
110,000 »45F x 12& 59,400
O154E0| 4 20 0] 2F
80,0002 80 x 12& 76,800
O10&014 15401 2¢
60,0002 x50 * 123 36,000
O5H0l4F 10012t
50,000&*1108 =12 66,000
OE=X22Y 480
O2X 40,0002+ 1= 12& 480
ORE2ZRE 33,600
O=& 50,0002/ «40F * 123 24,000
Ok:FS 40,0002 x20H 122 9,600
otlaZ22sg 50,0002 +40F * 123 24,000
QXXM At & =& 38,693
OAlIZte 222 12,321 3«3 8523 31,493
OFHE x| 00,0002 * 1% 128 7,200
OS24 407,472
OJIsdesY 142,800
=T 60,0002 *3Y *12& 2,160
-5=2 50,0002 «15F * 123 9,000
-6, 7= 30,0002 * 135 * 12& 48,600
NEN; 50,0002 «20F 123 12,000
-8=20I5t 20,0002 «80Z 123 19,200
=JIESAOMAE) 50,0002 2% *12& 1,200
“JIAHOIS) 30,0003 1108 = 12& 39,600
-AFADIARS (OHAE)
20,0002 x5 x 123 6,000
K2 (Ota2)
10,0003 «17F+12& 2,040
~& AR (3E 0] &) 50,0002 x5« 123 3,000
Oogge=g 45,000
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M HS3HD
. HYESAHUI(M2SIHD) (OIEHIIE
Chol: ol 2olh| (2R (497 21)
SA - FH . S(3) - MSAY - BAS 0l Ak o e MmEST
9|2 J| At 50,0002 «15* 123 9,000
—2tS A} 50,0003 *20F *12& 12,000
L= 250,000& x6H * 128 18,000
-2 EYUS 50,0003 x5 *12& 3,000
—=9| A 250,000 x 1 =123 3,000
OHRHRLE 80,0003 *4H 12 3,840
Ogiig+g 200,000& x18H* 12 43,200
ORlAHRAL 50,0003 «25F * 122 15,000
OAtA == 20,0003 x 18128 240
O3, Ha28sd 70,000& 100 = 12& 84,000
O&HA=H 2,712
-5 50,0003 x3H x 12& 1,800
= 38,0003 x2H x 12 912
OLlIAt =g 10,080
-5 80,0003 x2H x 122 1,920
= 60,0003 x3Yx 128 2,160
-7=0l35t 50,0003 «108 *12& 6,000
OME=XERE
70,0002 «55 * 123 46,200
OMIEXN LR (TIAE)
30,0003 «408 *12& 14,400
OMASRIATY 1,000,000 x2 + 12& 24,000
ORHSRALL 50,0003 «22Z = 12& 13,200
OsFYE Y 60,000,000& %10 600,000
ozc|gRag 4,409, 1002 x8Y « 12 xQp 38,0%
OFHZAH| 140,000& x538H » 122 903,840
OYE SO 20,563,693,0002*0. 1 2,056,370
OIS AH| 23,190,565,000& *1/12«15/30 966,274
02 JIEt& 2= 1,421,562 1,377,711 43,851
OQUEIDIIH(EHAH) 105,319
os2 94,424,000 *1H 94,424
OoE4g 480
~Bi Xt 40,0003 x18*12& 480
OFUZ A 140,000& x 1Y =122 1,680
O&ZEXH| 400,000 *x1H* 128 4,800
OGIE AtH|
94,424,000&1+1/12& % 15/30! 3,935
OLEIAIIM(HLEH S 2) 74,667
os2 62,000,000&*1& 62,000
OAIZt2 22+
11, 1302 x 1 «480 Al 2t 5,343
oJss4Y 960
-t 40,0003 18128 480
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2N NS D
A HE2LZHI(MRSIAM) (O1EHIIES

Selr olH2AE|(ZUR) CERE)

SA - FH . S(3) - MSAY - BAS 0l Ak o e MmEST
24 20,0002 x2% x 12¢ 480
OXMZAIH| 140,000& x 15+ 12& 1,680
OXZEXH| 175,000& x 1= 122 2,100
OStrB Al
62,000,000 %1/12&%15/30 2,584
QUEIRDIHI(HSAIY SHS , JA™BoIA
,FSsrae|oe) 187,977
os2 50,000,000& *3% 150,000
ONZRIRLLL(HEAR SA, 2015
sprel oled) 9,990 21 %2 *480A| 2+ 9,59
ONADRLH(FATBOI])
9,902 x 14 +804A| 2+ 8,034
ONExY 3,120
-BH Xt 40,0003 *3H * 12 1,440
E] 20,0003 *3H * 122 720
22 20,0003 *4H x 122 960
OE M= A 140,000 x3 = 122 5,040
O&ZEXH| 165,000 x3& + 12& 5,940
OStIrE Al
150,000,000 %1/ 1284 *15/30 6,250
OEAMEES 356,249
Ol== 3,213,500 x6H * 122 231,372
odz2+Y 3,213,500 x6H 19,281
OAIZtA=Y 9,992 *6 % 480 A| 2+ 28,777
oJts=4< 7,200
22 20,0003 «128 x 128 2,880
-Oi Xt 40,0003 *5H * 12 2,400
E 20,0003 x8F 12 1,920
OAZ2=GI3 12,000
-20E0] & 130,0002 x3¥ * 12& 4,680
-15=0[4F 2002+
80,0003 *3Y «12& 2,880
-10=0[4F 15402t
60,0003 x2Hx 122 1,440
-5E0|4 10= 02t 50,0003 x5H x 122 3,000
Otiolash]| 50,0003 x6H 12 3,600
O&ZE2XH| 155,0003 x6H 12 11,160
O=clE=MH]| 42,859
S HZAH| 140,0002 x6H * 12& 10,080
-HESIH| 3,213,500 *6 - *120% 23,138
A2 A
3,213,500 /30 *621 x 152! 9,641
OFAZH E(cctv) 521,045
o=s= 3,938,5002 x5+ 12& 283,572
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SA: NPSIHD
Mz HHSHAAHI (NI H D) (OIEHIIE
Ehel: olH2dy|(Laz) (EERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
(O Fme= 3,938, 500& *62 *100% 23,631
OAlZtI =& 11,2723 x6H *480A| 2t 32,464
S(EIEEE
3,757 &A*x6H *BA| 2Hx200! 36,068
OsddR2aY 90,6102 x6H 119! 64,6%
OJs4 6,480
22 20,0002 x6H * 122 1,440
~HH 2 Xt 40,0002 x6H * 12& 2,880
E] 20,0002 x6H 122 1,440
R ERE=VI DI, 30,0002 =2 *12& 720
O&IZLFLIRZ 9,120
20 0( A 130,000 x3 * 12& 4,680
-15E=0/AF 20 0| 2t
80,000 x2H 122 1,920
-10E0/& 15 0]2F
60,0002 x1Y*12& 720
-5 0 AH 10018 50,0002 x3H * 12& 1,800
OtoI&sH]| 50,0002 x6H 122 3,600
O&ZSEXH| 155,000 x6H x 12 11,160
O=cIE=MH| 50,254
S AHZAH| 140,000 x6 * 12 10,080
~HE S| 3,938, 500& 6 H *120% 28,358
-HIHE A
3,938,500 /302 #6021 x 15 11,816
OHIAZE (YY) 144,805
os2 3,905,000 x2H 128 93,720
(OFS = 3,905,000 x2H*100% 7,810
OAIZERA=E 10,2473 x2Z*480A| 2+ 9,838
OJIE== 4,200
22 20,0002 *4H * 122 960
—HH Xt 40,0003 x4H x 122 1,920
R E] 20,0002 x4H* 122 960
R IERE=D/ PN\ 30,0003 x1Hx12& 360
OdIZFLIRZ 7,680
20 0( A 130,000 x2& x 12& 3,120
-15E 0/ A 20 0] 2F
80,0002 x2H 122 1,920
-10E 0/ A 150]2F
60,000& x2H x 128 1,440
-5 0[14 10E0]0F 50,000 x2S« 12& 1,200
OUH2IE =H| 50,000 x2H x 128 1,200
OZZEXH| 155,000 x2H x 12 3,720
O=c|=4| 16,637
~HAHZAH| 140,000 x28 x 12& 3,360
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LA HILEH D
H: HMSAAYI(MREH D) (OIEHIIE)
CHel ol ol (YUR) (9= el)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
~HE RO 3,905, 000! *224* 120% 9,372
-1 A 3,905,000 *20115/30 3,905
Eont=CEEl==}
6.000, 0002 x2524* 1224 %1.75% 31,500
0B R (LI A 22 K24 6.394,8% 7,384,413 £989,518
osH0I5H 2,294,964
ol 2,474,900 *40% * 122 1,187,952
OX24¢ 1,557,562, 0008 / 122 129,79
OS#+g2+g 90,00024+4024 * 1284 43,200
OX g &g 70,0002 <402 122 33,600
ORlgg 60,0002 *40% * 122 28.800
Slgsg 100,00024 402 * 122 48,000
ORI cHat] 1,567,562,0009 / 1224%2.5 324,490
o=y 40,320
2 2 20,00024x25 * 122! 6,000
R 40,0002 +352 * 122 16,800
U 20,0002 252 122 6,000
X HORR) 60,0002 *16% * 122 11,520
OFHZ A 160,00021+40%* 128 76.800
OJFAIE = 110,00024 #4024 * 122 52,800
OnSEXH| 140,00021 4024 * 122 67.200
OFIZNL 40,0002 402 * 122 19,200
OHEEIH 1,480,752,0002 /1284%1.2 148,076
OdRREFII+E
157, 832214024 * 152 94,730
oysrz2 3,119,101
oJl=2 2,360,800 *752% * 122 2,124,801
OX24¢ 2,124,801,0002/ 128 177,067
O&ey 110,00024+7524* 122 99,000
ORlgag 60,0002 *75% * 122 54,000
OXDLEH(Y) 190,0002 5 * 122 11,400
OXR2E(8) 140,00021+6524 128 109,200
Oflg+y 50,0002 *62* 128 3,600
Odt=4g 55,200
2 2 20,0002 x352 x 122 8,400
e 40,0002 +40% * 122 19,200
“KHA (X ) 20,0002 =30 * 122 7,200
XA (SM) 60,0002 x2024 * 122 14,400
~XHA (SOl &) 100,00021 52 * 122 6,000
OFAZAHI 140,0002 %75 * 128 126,000
OnSEXH| 200, 000822 * 122 4,800
OXZ%g 50,0002 * 102 * 122 6.000
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M MS3IH D
M HYSIAUI(NRSHD) (DIEHIIE
TR QY| (XYLR) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OLA=E 150,000 x5H * 128 9,000
O EEI
2, 124,801,000/ 122+0.6x2 212,481
OURRZEIN+E
112,402 x 75«15 126,552
Os&EZRA 980,830
odle2= 2,422, 4803 x22B « 128 639,535
OFSI=tat= 639,535,000& /12& 53,29
O&d=< 110,000& x22Z « 12& 29,040
ool 60,0002 22 * 123 15,840
OXREH (L) 190,0002+x3H + 12& 6,840
OAZLH(2) 140,0002 x23 « 12 38,640
OF k=E={E1) 100,000 x 15 x 122 18,000
OfIE+E(3) 50,0002 =5 = 12& 3,000
OE=e 29,760
= =2 20,0002 +20F = 123 4,800
-t &t 40,0002 175+ 123 8,160
=XHA (X ) 20,0002 x15Z x 123 3,600
NEIC 60,0003 10« 12& 7,200
~XHA (Ol &) 00,0002 52 122 6,000
OB AHZ A 140,000& x22F « 122 36,960
OX&A== 50,0002 14H 128 8,400
OYESFOtHI 639,535,000 / 12&*1.2 63,954
OURRBEIN+E
113,836 x22H x 152 37,566
204 M2 A| 1,632,300 1,532,580 9,720
01 SR ZH| 76,260 71,160 5,100
o= 650,000 =12« 128 *150% 11,700
(OE g 400,000 *1H =12 *150% 7,200
04201 2T LLSH BHAE)
400,000 x2Y* 123 9,600
CA4SERI | (DIEI2AIAE Bl D122 AL AL
350,000 x2H x12& 8,400
O52)IZE(HE, sHIIsHHAR)
150,000 x6%H * 123 10,800
Os=2E2XRT | 100,000 x23H x 12& 27,600
OubI==0HE 80,0002 1 *12& 960
02 As2x| 1,239,120 1,134,300 104,820
(O 500,000 x1H x 123 6,000
o=+ 450,000&x 1« 12& 5,400
O4= 400,000&x4H 122 19,200
0532 250,000 x27F « 123 81,000
(©= 175,0002x178F + 12& 373,800
or= 165,000 157F + 12& 310,860
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fA:
R EH -
(=

el

NI 2] A1t
B 2AAHI(MR3I A (O1EHIIES

olE2AYI (L)

(etel: &)

2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
8= ,9%= 155,000& x231H = 12& 429,660
ORI REMITHA (X XEAI QAL &)
300,000 x1Hx 123 3,600
OXIXM IHA (2 3142 /53)
200,000 x2F * 123 4,800
OXI XA (21 81-62015t)
100,000 x4F +12& 4,800
03 EF3Y=LZI 316,920 327,120 210,200
OZANEE SR 100,000 »6H * 128 7,200
ONMRELIRA 100,000 19« 12& 22,800
O Fg=g=pF=r 150,000 x4 * 128 7,200
O0ESHTL T2
100,0002 x2F +12& 2,400
O32ASHS LB
80,0002 2 *12& 1,920
(OI=3=14N PSE=g= Xt
50,0002« 18 *12& 600
ouelesy] 50,0002 458 + 12& 274,800
303 Za= 2,015,685 1,937,7%4 77,891
02 &= 2,015,685 1,937, 7% 77,891
O&H2120% 3,240,000 x10521%1.725 586,845
OA120% ~ 60%IHK
3,240,000&x21021%1.25 850,500
OA&H2160% ~ 100%)tKI
3,240,000 *21021%0.85 578,340
M HASRESS 12,129,601 9,638,658 2,490,943
01 32 RE= 8,883, 169 7,614,619 1,268,550
(Clur=E == 40,988,573, 0003 *I% 3,688,972
oHaRE=28d83
40,988,573,000& *8.277% 3,392,625
CLEEEASEE
40,988,573,000& %4, 1023% 1,681,475
OMHEARE S
40,988,573,000& *0.293% 120,097
02 FALEEHZ 1,619,911 1,833,099 A213,183
CECEIEETEE =
40,388,573,000& *3.545% 1,431,775
0B HIRYDHE
1,431,775,000& *13. 14% 188,136
04 SR(RIIHL) 22X BE22H2 S 1,626,521 190,940 1,435,581
oBHIEY 2uIZRLS
2,294,964,0002 4. 5% 103,274
CHEEERENINEREE
3,119,101,000& *4. 5% 140,360
oBZTLN 2wiKzRL3
980,830,000& *4. 5% 44,138
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fA:

NI 2] Hl 2%k

Mz HHSHAAHI (NI H D) (OIEHIIE
CHel: olE 2oy (YUR) CEED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O&H0ITHR HUBEREZS
2,294,964 0002 *3.545% 81,357
OZE0IgHd QAP E =
81,357,000& %13. 14% 10,691
oYHZRN AYLERLS
3,119,101,000&! *3.545% 110,573
oYHDRN WIRYDHE
110,573,000 *13. 14% 14,530
ORITRN AYPERLD
980,830, 000& *3.545% 34,771
OHFTLN MI|QURHEE
34,771,000&%13. 14% 4,569
osA0lsA DEEHRLS
2,294,964 ,000& *1.75% 40,162
O=E0IstA MHMHEERE=
2,294,964,000& *1. 1% 25,245
ogszRa NeUsSeD
3,119,101,000& *1.75% 54,585
OYUNTRA MR
3,119,101,000&*1. 1% 34,311
OHEBRN NEEHRLD
980,830,000& *1.75% 17,165
OsEERR MNEERED
980,830,000& *1. 1% 10,790
O&&H0IsA & B2 g3
150,000,000 «6& 900,000
olzi2 | (K23 214,664 217,538 N2,874
= 24,216
o 190,448
OIS HH| (ARSI A 166,232 174,982 A8,750
101 21244 166,232 174,982 N8,750
01 2% 157,709 166,518 8,809
OAZI2AZ2 RS
10,9522 *30H *480A1 2+ 157,709
03 2R (RIHY) 2= X2 8,523 8,464 59
OZ2E A2NY224Y
15,7833 * 150%*30A| 2Hx 1H « 12& 8,523
JHEEHDIATAL CIAHH[(BX) 48,432 42,556 5,876
= 24,216
= 24,216
101 2124H| 43,713 33,250 5,463
= 21,856
= 21,857
03 BRE(RINHL) 22X E 4= 43,713 38,250 5,463
OMNYEFEIIAT AL CIAHHI(EX) 43,713
oJl== 2,360,800 x 128 28,331
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SM NS H %
A HE2LZHI(MRSIAM) (O1EHIIES

SI9l: olzi 2| (M 22IHD) (erol: &9
MEE =32t
2A - B3 - HA(3) - MRAE - BHES Ol &k 2K Off &b 0 HlusZ
2 14,165
2 14,166
OAIZtel+g
14,3531 % 150+ 10A| 2112 # 128 2,584
2 1,200
2 1,200
OBERII| 2,360, 89021 120% 2,834
2 1,417
2 1,417
O"AUZAY| 140,002+ 122 1,680
2 840
2 840
Oy 40,0002 » 122 1,680
2 840
2 840
O+ 110,000 22 1,320
2 660
2 660
SLEESS: 60,0002 122 720
2 360
2 360
oot At 114,822 152 1,723
2 862
2 861
ONE2g 40,0002! 128 480
2 240
2 240
Omasreg 2,360, 89021 100% 2,361
2 1,180
2 1,181
CVSEET=EE 4,719 4,306 413
2 2,360
2 2,359
M BRN(PII)22N HEEFES S 4,719 1,088 3,631
CEEEINENNELEES 4,719
ORelaRea
3,550, 0002 x4. 5% 12 1,917
2 959
2 958
OAL=ETE
3,550, 0002153, 495+ 128 1,489
2 744
2 745
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2A: A2 A

Mz HHSHAAHI (NI H D) (OIEHIIE
CHol: ol | (281D (Bl me)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
SEFIEEEEEEE
1,489,000& *12.27% 183
= ®
2 of
ong=aRea
3,550,000 1. 75% 12& 746
= 373
= 373
OMTHEE RS2
3,550,000 *0. Fex 122 384
= 192
= 192
J123HI (M3 H ) 91,164 99,242 N8,078
Jl2dd (M3 H) 91,164 99,242 N8,078
201 etEAH| 47,284 49,502 N2,218
01 AFR222lbl 47,284 49,502 N2,218
OYUst=2H| 26,860,000« 14! 26,860
OZ &t 11,904,000 & x 14! 11,904
OYX= 8,520,000 * 14! 8,520
202 O4H| 38,900 44,700 N5,800
01 ZLHoIY| 38,900 44,700 N5,800
OYFF=&II20Y| 38,900,000& x1A! 38,900
203 HRF=&IH| 4,980 5,040 A60
04 AL RFEH| 4,980 5,040 AB0
OFAM2IURFAY| 415,000 x12& 4,980
MLPES (MR A (LEBSSHH/WA - 28) 3,000,000 3,000,000 0
UWEHHXIZ 3,000,000 3,000,000 0
ko AL D2 3,000,000 3,000,000 0
702 JI28s2 3,000,000 3,000,000 0
01 JI2&8&E2 3,000,000 3,000,000 0
OEAIEI 2 BE=2
3,000,000,000& 14! 3,000,000
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